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2. (7 pts) A mothers age is 3 times the sum of her two children. After 26 years, mothers age
will be equal to the sum of her two children. How old was the mother when she had her
first child if her son is 7 years older than her daughter?
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3. (8 pts) Find all values of x satisfying 322 + 3z — 40 = 9z + 65.
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5. (227 pts) Find o and f so that 2> + 2+ 2 = (2 +a)? + A.
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6. (7 pts) Find the z-coordinate of the point B=(z, 0) so that AB=AC; where A = (2012, 100)
and C= (0,0). That is the triangle ABC is isoceles(ikizkenar).
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\'37. (7 pts) Find an equation of the line passing through A(-

2,2) and B(1,11).
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8. (7 pts) The graph of f(z) is given below. Graph g(z) = 2f(z — 1) + 1 in the blank grid
provided.
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9. (7 pts) Find the domain of the function
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10. (2x7 pts) Complete the table below by filling in correct values of ( fog)(z) and (f og™H)(z):

T 1 2 3 4 .
- (@) 4 1 2 3
g(z) 2 4 1 3
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11. (7 pts) Divide P(z) = 2% — 4z* + 222 + 4 by Q(z) = 2% — 2.
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12. (7 pis)Describe a function g(z) in terms of f(z) if the graph of g is obtained by shifting
the graph of f to the left by 2 units and up by 4 units.
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